In 1285 Alexander III married again to a young French Noblewoman, Yolande. Scotland was pleased about this because his first wife had died and so had his children. In an effort to get back to Yolande one night to try and produce the next heir King Alexander III of Scotland died in an accident, leaving the dilemma of finding a new heir to the throne. But his daughter had had a child and according to the act of succession his granddaughter, The Maid Of Norway, would be next in line for the throne. This was going to cause inconvenience for Scotland because she was young and there was a question over who she would marry. Unfortunately the Maid dies on her way to Scotland and Edward I the King of England takes advantage of their troubled times. 
